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QUESTION 1

Which two Data Guard monitoring activities may be performed using Enterprise Manager Cloud Control?
A. monitoring the redo apply rate on a physical standby

B. monitoring the redo apply rate on a logical standby

C. monitoring the undo generation rate on a logical standby

D. monitoring the redo apply rate on a snapshot standby

E. monitoring the transport lag

F. monitoring the undo generation rate on the primary

Correct Answer: AE

QUESTION 2

Which four database parameters might be affected by or influence the creation of standby databases?
A. DB_NAME

B. ARCHIVE_LAG_TARGET

C. COMPATIBLE

D. DB_FILE_NAME_CONVERT

E. DB_UNIQUE_NAME

F. FAL_SERVER

G. STANDBY_ARCH1VE_DEST

Correct Answer. ADEF

QUESTION 3

Which three are true concerning Automatic Block Media Recovery in a Data Guard environment when running an
application as an ordinary Oracle user?

A. Real Time Query must be enabled on the primary database
B. Real Time Query must be enabled on the physical standby database.

C. |f a physically corrupt block is discovered on a physical standby database, then a valid block image from the primary
database is retrieved.

D. If a physically corrupt block is discovered on the primary database, then a valid block image from a physical standby
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database is retrieved

E. if a physically corrupt block is discovered on a logical standby database, then a valid block image from the primary
database is retrieved.

F. If a physically corrupt block is discovered on a primary database, then a valid block image from the logically standby
database is retrieved.

Correct Answer: BCD

QUESTION 4
Which three statements are true about snapshot standby databases?
A. Snapshot standby databases may be used for rolling release upgrades.

B. if datafiles grow while a database is a snapshot standby database, then they shrink when converted back to a
physical standby database.

C. Flashback logs are used to convert a snapshot standby database back into a physical standby database.
D. a snapshot standby database can have Real-Time Query enabled

E. A guaranteed restore point is created automatically when a physical standby database is converted into a snapshot
standby database.

Correct Answer: CE

QUESTION 5

You must configure an Oracle Data Guard environment consisting of:

1. A primary database

2 Three Physical Standby Databases

You must meet these requirements:

A designated physical standby database should become the primary database automatically whenever the primary
database falls The chosen protection mode should provide the highest level of protection possible without violating the
other requirement Which redo transport mode and protection mode would you configure to meet these requirements?
A. SYNC NOAFFRIM and Maximum Protection

B. SYNC NOAFFIRM and Maximum Availability

C. ASYNC and Maximum Performance

D. SYNC AFFIRM and Maximum Availability

E. SYNC AFFIRM and Maximum Protection

Correct Answer: D
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